NEW PRODUCTS
Crystal oscillator

SMALL SOJ HIGH-FREQUENCY CRYSTAL OSCILLATOR

SG-636PDE

* Reflowable and high density mounting type SMD package.

e Operable 2.5V and Out put frequencies from 2.21675 MHz to
41.000 MHz.

e Qutput enable(OE) function allow more low current consumption.

L

Actual size
B Specifications (characteristics)
Item Symbol Specifications Remarks
Please contact us for inquiries
2.21675 MHz to 41.0000 MH

Output frequency range fo ‘ ‘ about the available frequency.
Power source | Max. supply voltage | Voo-GND -0.5Vto+7.0V
voltage Operating voltage Voo 25V025V Stored as bare product after unpacking
Temperature | Storage temperature Tsta -55 °C to +100 °C
range Operating temperature Torr -20°C t0 +70 °C
Frequency stability Af/fo C: +100x 10
Current consumption lop 5 mA Max. No load condition
Output disable current loe 3 mA Max. OE=GND
Duty | C-MOS level tu 45 % 10 55 % C-MOS load: 1/2 Voo level

VoH Voo -0.4 V Min.

(loH) -4 mA
Output voltage Vor 04V Max.

(lov) 4mA
Qutput load condition

o 15 pF Max.
(fan out) c-M0s C P
. ) Vin 0.8 Voo Min. li=1 pA Max.(OE=Vop)
Output enable/disable input voltage Vi 0.2 Voo Max. li=-1 wA Min. (OE=GND)
Output rise time | C-MOS level trLH 5 ns Max. C-MOS load: 20 %—80 % Voo
Qutput fall time C-MOS level tTHL 5 ns Max. G-MOS load: 80 %—20 % Voo
Oscillation start up time tosc 4 ms Max. Timeat2.25VtobeOs
Aging fa +5 x 10° /year Max. Ta=+25 °C first year
o T SR +90 x 10 Max Threg drops on & hard board from 750 mm or excitaton test vi
o B ) 29400 m/s? x 0.3 ms x 1/2 sing wave in 3 directions

Note: e Unless otherwise stated,characteristics (specifications) shown in the above table are based on the rated operating temperature and voltage condition.
« External by-pass capacitor is required.
* Metal may be exposed on the top of this product. This won't affect any quality, reliability or electrical spec.

B External dimensions wnit: mm) Il Recommended soldering pattern (Unit: mm)
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